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5.Figure 1 shows a narrow charged solid cylinder that is coaxial with a larger charged
cylindrical shell. Both are nonconducting and thin and have uniform surface charge
densities on their outer surfaces. Figure 1-b gives the radial component E of the electric
field versus radial distance r from the common axis, and Es = 3.0 x 10° N/C. What is the

shell's linear charge density? (30%)
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6.The uniform solid block in Fig. 2 has mass 0.172 kg and edge lengths a = 3.5 cm,
b =8.4 cm, and c = 1.4 cm. Calculate its rotational inertia about an axis through

one corner and perpendicular to the large faces. (30%)
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